il

YucrioBble 3aM1CcH € ACCITUIHBIMU JPOOSMU Nwmst:
OnpeneanTe Kakasi YMCJI0Bas 3aNUCh BEpHA. OTBeTHBI
1) A.037=073 2) A.4,89>4,98 3) A.3,75<3,57
B. 2,58 >2.85 B. 0,96 < 0,69 B.1,23=1,32 L.
C.5.82>528 C. 06,9 > 6,09 C.2=2,00
D. 0,95 < 0,59 D. 0,67 > 0,76 D. 0,36 = 0,63 2.
3.
4) A.2,59=2095 5) A.0,35>0,53 6) A.2,85<258 4
B. 2,43 <234 B. 4,92 > 4,29 B. 3,96 < 3,69
C.5,92>5.29 C.2,94 < 2,49 C.3,67>3,76 5
D.1,67>1,76 D.0,61<0,16 D.5,28<5,82
6.
7.
7 A.2,49=294 8) A.0,61<0,16 9) A.0,94 <0,49
B.547<5,74 B. 0,94 < 0,49 B. 0,49 > 0,94 .
C.2,57>2,75 C. 0,56 > 0,65 C.5=5,00 '
D. 4,75 < 4,57 D. 05,6 > 5,06 D.1,75< 1,57 .
10.
10) A.6,89>6,98 11) A.137=1,73 12) A.629<6,92
B.1,09<01,9 B. 0,36 = 0,63 B. 2,96 < 2,69 I
C.0,91<0,19 C.1,29=1,92 C. 0,26 > 0,62
D. 4,78 = 4,87 D.1,00=1 D. 3,89 = 3,98 12.
13.
13) A.0,84 <0,48 14) A.6,98<6,89 15) A.1.42<1.24 14,
B.3,47>3,74 B.1,87<1,78 B. 028> 0,82
C.3,75<3,57 C.325<3.,52 C. 2,08 <2.80 15.
D.7,00=7 D.2.53 <235 D.3.68 =3.86
16.
17.
16) A.0,25=0,52 17) A.0,59>0,95 18) A.0,67=0,76
B. 124> 1,42 B.0,19=10,91 B. 4,86 < 4,68 .
C. 0,68 = 0,86 C.2,63<236 C. 4,59 = 4,95
D. 6,80 > 6,08 D.2,00 =2 D. 5,60 =5,6
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YucioBele 3aII1CH C ACCATUYHBIMHU I[pO6HMI/I Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
OnpeneanTe Kakasi YMCJI0Bas 3aNUCh BEpHA. OTBeTHBI
1) A.037=0,73 2) A.4,89>4.98 3) A.3,75<3,57
B. 2,58 >2.85 B. 0,96 < 0,69 B.1,23=132 L_C
C.5.82>528 C. 06,9 > 6,09 C.2=2,00
D. 0,95 < 0,59 D.0,67 > 0,76 D.0,36=0,63 2. C
3. C
4) A.2,59=2095 5) A.0,35>0,53 6) A.2,85<258 4 C
B.2,43<2234 B. 4,92 > 4,29 B. 3,96 < 3,69
C.5,92>5.29 C.2,94 < 2,49 C.3,67>3,76 5 B
D.1,67>1,76 D.0,61<0,16 D.5,28<5,82
6. D
7. B
7) A.2,49=294 8) A.0,61<0,16 9) A.0,94 <0,49
B.547<5,74 B. 0,94 < 0,49 B. 0,49 > 0,94 g D
C.2,57>2,75 C.0,56> 0,65 C.5=5,00
D. 4,75 < 4,57 D. 05,6 > 5,06 D.1,75< 1,57 . C
10. B
10) A.6,89>6,98 11) A.137=1,73 12) A.629<6,92 D
B.1,09<01,9 B. 0,36 = 0,63 B. 2,96 < 2,69 I
C.0,91<0,19 C.1,29=1,92 C. 0,26 > 0,62 A
D. 4,78 = 4,87 D.1,00=1 D. 3,89 = 3,98 12.
13. D
13) A.0,84 <0,48 14) A.6,98 <6,89 15) A.1,42<1.24 4 C
B.3,47>3.74 B.1.87<1,78 B. 028> 0,82
C.3,75<3,57 C.325<3.52 C.2,08<2.80 5. C
D.7,00=7 D.2.53 <235 D.3.68 =3.86
6. D
17. D
16) A.025=0,52 17) A.0,59>0,95 18) A.0,67=0,76
B. 124> 1,42 B.0,19=10,91 B. 4,86 < 4,68 s D
C. 0,68 = 0,86 C.2,63<236 C. 4,59 = 4,95
D. 6,80 > 6,08 D.2,00 =2 D. 5,60 =5,6
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